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(3) FER26EFEFELDHE
D BwA (B4 FH. %)
TRR264E L M ) o | SRR ) TR WO HEEE
A B C=B-A C/A X100

1 BTHL 1,734, 876 1, 655, 730 A 79,146 A 4.6
2 M7 5Bl 124, 600 121, 300 A 3,300 A 2.6
3 FIlF- 5172 fH 4 5, 900 5, 600 A 300 A 5.1
4 BiM4EIZ A4 5, 600 6, 100 500 8.9
5 Bk I B e 4 880 3, 400 2,520 286. 4
6 H 7N BB 4 189, 000 284, 000 95, 000 50. 3
8 HEhH IS Ris (4 14, 800 14, 400 A 400 A 2.7
9 HuJF RIS A4 3, 600 3, 200 A 400 A 11.1
10 #5224 7,492, 254 7,270, 817 A 221,437 A 3.0
11 il It 2, 900 2, 390 A 510 A 17.6
12 e Rk 4 251, 122 250, 447 A 675 A 0.3
13 il B OV Hok 183, 210 185, 560 2, 350 1.3
14 [EEE S H 4 1, 090, 301 1, 009, 747 A 80, 554 A 7.4
15 B H 4 680, 422 741, 882 61, 460 9.0
16 JPEILA 30, 061 32, 302 2,241 7.5
17 Ff4 25, 000 75, 000 50, 000 200. 0
18 e A4 585, 049 505, 157 A 79,892 A 13.7
19 fpllkd 300, 000 300, 000 0 0.0
20 FEILA 234, 525 291, 868 57, 343 24.5
21 WT{E 2,493, 900 2,818, 100 324, 200 13.0

3t 15, 448, 000 15, 577, 000 129, 000 0.8
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FRR26HEE )T B | PR TR ) R T BEIRR

A B C=B-A C/AX100
1 92,617 98, 531 5,914 6.4
2 B 2, 695, 126 3,961, 283 1, 266, 157 47.0
3 R 3, 693, 086 3, 468, 241 A 224, 845 A 6.1
4 kg 1, 381, 820 1,407, 827 26, 007 1.9
6 JEMIKPESE LY 1, 167, 296 1, 444, 299 277, 003 23.7
7 pA T 272, 857 267, 291 A 5,566 A 2.0
8 A% 560, 585 516, 351 A 44,234 A T.9
9 THRLE 1, 638, 962 526, 530 A 1,112,432 A 67.9
10 BB 1, 350, 403 1,324,924 A 25,479 A 1.9
11 KEFEEIRE 9,947 9, 944 A 3 A 0.0
12 INME# 2,529, 910 2,445, 192 A 84,718 A 3.3
13 783 4 35, 391 86, 587 51, 196 144. 7
14 T # 20, 000 20, 000 0 0.0
&t 15, 448, 000 15,577, 000 129, 000 0.8
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1 N2 3, 092, 884 3, 120, 250 27, 366 0.9
2 Wit 2, 615, 406 2, 357, 060 A 258, 346 A 9.9
3 MERARIE 2 86, 647 84, 044 A 2,603 A 3.0
4 $RBhE 1,237, 461 1,231, 520 A 5,941 A 0.5
5 BB 1, 505, 612 1, 628, 985 123, 373 8.2
6 LNEE 2,529, 910 2, 445, 192 A 84,718 A 3.3
7 FENLA 35, 215 86, 410 51,195 145. 4
8 B K O & 4 10, 500 24, 815 14,315 136. 3
9 B4 20, 250 18, 550 A 1,700 A 8.4
10 f 4 1,621,023 1, 482, 330 A 138,693 A 8.6
11 W e 2,663, 145 3, 067, 900 404, 755 15.2
12 KEHEAFEE 9,947 9,944 A 3 A 0.0
13 Tl 20, 000 20, 000 0 0.0
At 15, 448, 000 15,577, 000 129, 000 0.8
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e . T A I 2 2 3, 816, 000 4,198, 000 382, 000 10.0
T e =R 283, 100 280, 900 A 2,200 A 0.8
AR BRI 2 2 3, 088, 000 3, 130, 000 42, 000 1.4
fifi 5 B Rl 2 5t 263, 800 288, 300 24, 500 9.3
SN R K R A2 142, 000 129, 000 A 13,000 A 9.2
B LR i 2 B A 5 165, 000 162, 000 A 3,000 A 1.8
TRIR F SR S5 74, 100 75, 800 1, 700 2.3
W2 B2 2 25, 700 25, 700 0 0.0
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A B C=B-A C/AX 100
1 AGE IS 564, 200 546, 900 A 17,300 A 3.1
2 BEARRIILA 82, 544 127, 316 44, 772 54. 2
# 646, 744 674, 216 27, 472 4.9
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ERR26AEFE L ) T | 2 TEE S PR O AR
A B C=B-A C/A X100
IWISGE = s 564, 200 546, 900 A 17, 300 A 3.1
2 BRI H 290, 427 324, 092 33, 665 11.6
2 854, 627 870, 992 16, 365 1.9
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A B C=B-A C/A X100
] T = S 669, 500 663, 000 A 6,500 A 1.0
2 BEAREIIA 2, 750 0 A 2,750 A 100.0
A 672, 250 663, 000 A 9,250 A 1.4
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A B C=B-A C/AX 100
1 et i 669, 500 663, 000 A 6,500 A 1.0
2 BRI 31, 590 35, 396 3, 806 12.0
2 701, 090 698, 396 A 2,694 A 0.4
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